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IECSRGBuUO-Normhelligkeit I*

Ync=Yw nc=100,

I |EcsraBu0=50 (Y/Y) Y24(Y, =18, Y, 100<Y<=Y, )
I* (3,6)=26,1* ,(18)=50,1* y(90)=98

1* 0=97,77,y=2,4, 14=1/2,4=0,41
I*16=50,0Q §=50,00 D,=—0,00
I3 6=25,51[,=50,00 Y=18

log[I* /I* ,]=0, m;=0,41
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IECSRGBuUO
Normfarbwertdifferenz
Yac=Yw - nc=100,
I* lEcsraBuO=50 (YY) /2 4(Y,=18, ¥,/ 100Y<=Y, )
log(dY) = (1/2,4) log[2,4¢,/50)] + [1-(1/2,4)] logY)
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1Yy =90
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log (AY/Y)
S=(AY/Y)

IECSRGBuU0
Normfarbwertemfindlichkeit
Yoc=Yw - nc=100,
I* lEcsroBUO=50 (YY) /2 4(Y,=18, ¥,/ 100Y<=Y, )
log(dY/Y)= log[2,4(Y,/50)] - (1/2,4) log¢/Y,)
= (1/2,4) log[2,4¢,/50)] - (1/2,4) logy)
log(dY/Y)=-057, m=-0,41~ = s

&~ Anwendungs
50, dY,=4,80 dY,/Y,=0,2666 1
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log (Y/AY)
C,=(Y/AY)

IECSRGBuUO
Normfarbwertkontrast
Yac=Yw - nc=100,
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log(Y/dY)= — log[2,4(/,/50)] + (1/2,4) log{/Y,)

= - (1/2,4) log[2,4Y,/50)] + (1/2,4) logy{)
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Normfarbwertdifferenz
Yoc=Yw - nc=100,

I lEcsraBUO=0 (Y/Y) 24 (Y, =18, Y, 100Y<=Y,o)
log(dY/dY,) = [1~(1/2,4)] log¥/Y,)

QYoo dy=2.85.y=24, 14=1/24=0.41
dY;¢dY,=1,00 $=50, )
dY; gd¥,=0,39 Y,=18, mg 24,80

P
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o
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IECSRGBUO relative
Normfarbwertempfindlichkeit
Yne=Yw nc=100,

I lEcsRaBUO=0 (YY) 24 (Y218, Y, 100Y<=Y, )
10g[(dY//(AY/Y),] =~ (1/2,4) log¥/Y,,)
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1y =18
Y=90

YN=3.6

log [(Y/AY) I (YIAY),] IECSRGBUO relativer

Normfarbwertkontrast
CrlCru=(YIB(YIAY)y . =y, =100,

I lEcsrGBUO=50 (YY) 24 (Y, =18, Y,/ 100Y<=Y,)
logI(Y/dY)/(Y/dY),] = (1/2,4) loglY/Y,)

(Y/dYyo/(Y/dY)=1,95,y=2,4, 1§=1/2,4=0,41
(Y/dY)g/(Y/dY)=1,00 §=50,0Q D,=—0,00
(Y/dY} g/(Y/dY)=0,51, Y,=18, dY=4,80
log[(Y/dYY(Y/dY),]=0, m=0,41
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